


P to W are eight persons in which there are four boys and four girls.
They are of different weight. Three boys alﬁ two girls are lighter than P.
only four persons are heavier than S, who is a girl. U is a girl and only
two persons are lighter than U. V is heavier than Q, who is heavier than
W. V is not the heaviest and W is not the lightest. The gender of heaviest
and lightest person is different. T and V is a girl.

PO W deh 3o afad g foad IR o= 3K ar sfrar &1 9
3TSIIT-37e19T dolel o gl died o8 AR af osfhar P @ gad &1
hdel IR Ilad S T HANT &, S Teh JIShl &1 U Ueh olghr g 3K
UH hdel &I TFd Beb &l V, Q @ AT &, ST W & #ARY 81 V
I8 AR A8l & IR W HEH goohl el ol F9H A AR goh
cgTad &l ToIvT 3TI9T-37019T BIdT &1 T 3R VUs oIS ¢
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Q. Who are the second lightest and fourth heaviest person respectively ?

I W, Q N ™ © owder
B. TR i
c. QW @

D. PS
E. RV
Ligltel
Q. Who is%thanT?
A. S,W,P

B. PRV
LR, (D) ~ O
& Al of the above \[7 - >S

E. None of these

—

Q. 6\-/ho is heavier than S but lighter than V ?

A. RandU
B. TandV

D. More than one option
E. None of these



@ to W are eight persons in which there are four boys and four girls. They are of different

welght Three boys aﬁ'two girls are lighter than P. (:nly faur persons are heavier than S, who is a
girl.\U is a girl and only two persons are Ilghter than U. V is heavier than Q, who is heavier than
W. Vis not the heaviest and W is not the lightest. The gender of heaviest and lightest person is

dlfferent T and Vis a girl.
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Six persons have different number of toffees with them. No two persons have same
number of toffees. The 2" highest number of toffees with a person is 12 while the 2™
lowest number of toffees with a person is 7. Number of toffees with A is just higher
than that with O. At least two persons have more toffees than |. umber of toffees with
Y is just lower than that with D. U has more toffees than Y but less than that of A. U
has more toffees than I. | has higher number of toffees than D.

%W%Wawdl-aﬁdlmﬁmﬁlmaﬁa I &




Q. Who has the 37 highest number of toffees ?

22U

. & RO

v >~
®=o

Q.@the sum of‘to_ffees with Y arld is I8 and the sum of number of toffees with | and D is 17,

mo O w®

then what s E—
the sum of the number of toffees wit)‘{Y and | ?
A. 15 | /
B. 6T ’0
,ZEQS
D. 13

E. None of these



C"_persons have different number of toffees with them. ®o two persons have same number of
toffees_&;e pAL hlghest number of toffees with a person is 12 while the 2" lowest number of
toffees with a person is 7(Number if toffees with_A is just hlgher than that with O. At least two
persons have more toffees than INmeer of toffees with Y is just lower than that with D. U has
more toffees than Y but less than that of A. U has more toffees than I. | has higher number of

toffees than D.




P to W have different weight. Two persons are heavier than U but lighter than T.
Number of persons heavier than T is half of the number of persons heavier than U. V is
heavier than W, who is heavier than S and S is heavier than T. P is heavier than R, who
is not the lightest. How many persons are heavier than Q but lighter than U ?

PO W &l Il -3 gl el AFT U T AT E dfhd T Gob 81 T I
T IfFaAT &hr I&IT U & AT SITFdar hr J&ar &1 3me g1 v, W & Jir
g, SN ST AT EITS, THA AN B P, R T AN &, S G9H goohl el ol
fohder sOTdFd Q& #RY oifhad UT Bob 87

A. None

B. Qis heavier than U
C. 2

D. 3

E. None of these



GD to W have different weight.@vo persons are_heavier than U but lighter than T.INumber of
persons heavier than T is half of the number of persons heavier than U. V is heavier than W, who
is heavier than S and S is heavier than T. P is heavier than R, who is not the Iightest@ow many

e ———
persons are heaV|er than QELHg_ter than U ?

%Nonefz""o /\i L) 5 T P R 8"

B. Qis heavier than U _ D _ — -

C. 2 )%

D. 3 —

E. None of these w U & C;
a
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Seven persons are of different age. No two persons have same age. E is
older than Q but younger than F. S is just older than O. One person is
younger than J. Number of persons older than F is same as younger than
F. The second oldest person is of 84 years and the fourth youngest
person is of 59 years. B is older than O.

TIT Fd He[@-37eldT 37 & gl ool al FdAr & Mg
AT AGT gl E, Q A 93T 8, dfhad F A BleT 81 S, O T S §31
gIUh Ifad ) & BleT &1 F & 318 37 & gieaar & g&ar F
¥ &A 3 & IiFdal & AW gl qE a8 97 hfed 84 ¥
a1 g 3R D g8 @ver Ffea 59 av¥ &1 &1 B, oW &7 g




Q. Which can be the age of Q ?
/

A 597_’7(\,\g ey b
3 w2 () ) e
D GOfX

E. 58
C(?the sum of age of Sand J is 136 and the sum of age of F and O is 132 then what will be the sum of age of O

andJ?
A. 128 Q¥ 53 —
B. 135 @\’Sb 5_‘.5 \Z(a ) D’\'Q '

C. 133 3
D. 119 ~% - CxDd = | 3= 13 5%
3”125 9 o 3 \-5-;
S5
How many personsareyotngerthan S ?
Abks =2

o}
A1
B. 2
C. 3
D. 4
F 5



Ggen persons are of different age. No two persons have same_age@ls_older than Q
but younger than F. STjust older than O.(One person is younger than J. Number of
persons older than F is same as younger than F.(Jhe second oldest person is of 84
years and the fourth youngest person is of 59 yearg. B is older than O.




A to F are six laptops. A customer started comparing the features
between all the six laptops. B has better features than E. C is better than
B. D has the best feature among all the six laptops. F is better than A.
Three laptops are better than E. The laptop which has the maximum
feature has 12 features.

AT F Gg JdUeiT &1 T IUgsh o I ©g Jueia & g hraa
S Jelell AT AE A fear| B é?trl‘\ErE dgd IR g1 C &
wsﬁawtﬁm%laaﬂ%anﬁqﬁﬁo qyg gad
3T B 81 F A & 98K gl dief ogeid E & d8cX 81 o
e # f¥edd hRR §, 399 12 faw g




Q.IfBhas9 features than what WI|| be the number of feature that C has? *
AT 5 \ > Dossi BAVH %
Q 13 — €

Q. Who has the least number of features ?

N —

B. D

C. C

D. B

E. E

J—

Q. How many laptops h better features than B ?
A1

2

C. 3

D. 4

E. None of these



(A to F are s/i>_<JaptopsQA customer started comparing the features between all the six
laptops) B has better features than E. C is better than B. D has the best feature among

all the’six laptops. F is better than A. Three laptops are better than E. Ee laptop which
has the maximum featureh}u features.

/




A to F have different number of coins. E has less coins than A. A has less
coins than B. C has more coins than only two persons. F does not have
the highest number of coins. A has 300 coins.

AT FH g FeH9T-3709T €T H @k &1 E & 919 A & A
Bah &1 A 9T B U A ™@ah &1 C & ITH shdd al giaddl
31 e 81 F & 9rg Qaht & 9&ar aad 38 6l gl
A% I 300 f@Fs g




. Who has the second lowest number of coins ?

L &)

%ne of these

Q. What is the possible number of coins with B ?
A. 250

OO ®>PE

B >3

I
(@)
(@)

C. 150

her bord

Qb

Q. What may be the sum of coins of D and F, if the sum of coins of A and F is 1000 ?
A. 13007
A )

. 14007 =~
C. 1500 *D Wg@ @ 0¥
D. 1200 $9/>r

#” None of these

\3\;



A to F have different number of coins@ has less coins than A. A has less coins than B. C
has more coins than only two persons. F does not have the highest number of coins. A
has 300 coins. B

s >_,>_,>_g’>_>—
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Seven persons buy different number of chocolates. Y buys more than A
but less than N. M buys more than L but less than O. A buys more than
O. Z buys more than N. The person who buys the second least number
of chocolates buys 3 chocolates and the person who buys the 2nd
highest number of chocolates buys 12 chocolates.

ard IfFd 3TelFT-3Te9T T&AT H didhelc TG &1 Y, A T 318«
ofhd N & & @Wledr g1 M, L & 318 oifhad 0 & & WEdr
1A, O T 31f89% Wliedr g1z, N & 3% Tledr g1 o =afed qalr
I8 & J&IT H dldhelc TUGAT § dg 3 didhelc WGl &
%Wﬁ@ﬁﬂ@ﬁfﬁ* JC&IT H dlchole GEdT g

12 dlehelc TIEAT




Q. Who buys the highest number of chocolates ?
o

C. Y

D. A

E. None of these

Q. If sum of of chocolates of N and A is 17 and the different between the chocolates of Z and A is 9 then how
many chocolates does Zhave ? - S5

ﬁ/ii @ N b=
c. 11 ‘);“"’5
D. 15 C\)B

E. None of these

— A —
hat is the av e number of_chocolates bought by N and O, who bought double the chocolates of M ?

\4 02 . A)

&5 ¥

E. Can’t be determined

=

Q
A.
B
C

(o) N 02 N



@e@persons buy different number of chocolates@ buys more than A but less than
N. M buys more than L but less than O(A buys more than O. Z buys more than N. The
person who buys the second least number of chocolates buys 3 chocolates and the
person who buys the 2" highest number of chocolates buys 12 chocolates.

%>t/>7>_,> >M LJ
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P to U are six phones having different memory capacities. S has more
capacity than Q but less than R. T’s capacity is 2 more than R but less
than P. R has 12gb capacity which is 4 more than the U’s capacity. S has

an average capacity of T and U.

PH UGE BId & Tolodehl HAART &THAT 3Tolel-3Te1dT &1 S hr &7 HAr
QO IF g ATPT R A FHA B T H AT R T 2 3+ ©
ofshad P & A gl R T &JHAr 12306r § SF U T &J&Hdar I 4
Sier 37T g1 ST 3 d &7d3dr T3k U gl




Q. If P has 7gb capacity more than S and Q has half of the capacity of P then who has the lowest
capacity ?

A R P @ >0
5 U @ (®) @ G
C. S "\
D. Q
E. None of these
C— =
Q.d:low many phones have more capacity thanR ?

A. None

B. 1 )
£ 2

D.

=

3
4



P to U are six phones having different memory capacities. S has more capacity than Q
but less than R. T’s capacity is 2 more than R but less than P. R has 12gb capacity which
is 4 more than the U’s capacity. S has an average capacity of T and U.



P to V have different weight. T is heavier than V but lighter than U, who
is not the heaviest. R is lighter than P, who is lighter than S. V is lighter
than R, who us heavier than Q. Only Two persons are lighter than T. P is
the third heaviest. The weight of the 2" heaviest person is 50 kg. V is

not the lightest.

{

4

U d godhl
S 98 HRT 8 81 R, P H gol g, gl V. R
gohl g, oIl Q § $Y §1 dhddl g <Igfad ol P
Tl AN Bl g T8 A FfFA A1 gofeT 50 fheharms
oy ol oIl &

PI V &l doled HAIMN-IRT &1 T, VT AR §
S S
.

3

V

g



Q. If the weight of S is 10 kg more than U, than what is the sum of the weight of S and P, if P’s weight is half

of S's weight?

A. 45kg 60 5O

B. 60kg S;\'D'\’o P < co

C. 30kg - —

D. 80 kg S+p=l ”Sﬂjé & 2-

None of these o 3° -

7 Noneoll 6 \9 )
QQ—Iow many persons are heavier thanR ? g\@
A 1 - -

e & N @

D. 4 R

E. Can’t be determined —




@to V have different weight. T is heavier than V but lighter than U, who |s not the
heaviest. R is Ilghter than P, who is lighter than S. V is lighter than R, " who ws heavier
than Q. @nly Two persons are lighter than T. P is the third heaviest. The weight of the
2nd heaviest person is 50 kg. V is not the lightest.

m_‘—v\/ -
C ’ "




A to F are of different age. Cis older than B and D. B is not the youngest.
B is younger than E. C is older than E. ﬂis older than C but not the
oldest. The 2"d oldest person is of 44 years. The age of the youngest
person is 15 years less than the age of the second oldest person.

AT F3TelFT-3Te19T 3H & gl C, B3R DI &3T gl B GaH BIeT gl
€l BEADIETEI C, EXTITEl f CA T, olfched TeH 37
T 1 g T8 oI AfFd 44 el & g HIQ BIE Ffad
3T @Y T §3 hiad @I 3T & 15 IV FA g




Q. Who is the oldest ?
A. D

C. A

D. E

E. None of these

—
Q. What may be_the age of E ?
SNGIN
y -4 31)

& 33
@ Either 33 or 31
E. None of these



A to F are of different age(C is older than B and D. B is not the youngest. B is younger
than E. Cis older than E.@is older than C but not the oldest. The 2"? oldest person is of
44 years. The age of the youngest person is 15 years less than the age of the second

oldest person. (jj;g)
f> ﬁ > __g’>_£—;> “.?.)_,>,_
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A to F scores different marks in a test out of 100. F scores more than C,
who scores more than D. Only two persons scores less than A. D scores
less than A. D does not score lowest. E scores more than C and A. E does
not score the highest. The person who scores 2" |owest scores 40
marks.

AT FUS GU&T # 100 § I 3TelFT-37e19T 31 UIed &dd gl FCH
37T 37 UTcd HdTl &, oif D & 31T 31k YIcd &dl gl shdol
al <hfFd A T A 31 IIod FIJ g1 D FT 37h A H HH gl D FI
3eh GeIdH gl gl Eol C 3R AT 3HAF 3 ured fhT &1 e
3TIaH 3F UST ST Y F GO HEH HH 3 I arell
afed 40 37 9Iod AT gl




Q. Who scores the highest ?

A. E

B7F

C.

D. C

E. None of these Yo% A\

If C scores 60 marks than what he scores of A ?

Q.

A 4SEN T — —
C. Q
D. 40 -
E. None of these ﬂ‘ﬂ



A to F scores different marks in a test(jout of 1UU.\Escores more than C, who scores
— e

———

more than D. Only two persons scores less than A. D scores less than A. D does not
score lowest. E scores more than C and A. E does not score the highest. The person
who scores 2™ Iowest scores 40 marks.

6> C- & >D > 5
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E to J have different number of toys. E has more toys than G. H has more
toys than I, who has more toys than G. F has more toys than E. As many
persons have more toys than G as less than H. G does not have the least
number of toys. F has more toys than H. | has less toys than E. The
person who has second lowest number of toys has 50 toys.

EH J & UIH 3TelF-37e9T I&IT H Wil &1 E& 9189 G ¥
Gelld €1 H o 9T | O 30 Wola &, 99 99 6 I ¥
el &1 F & 919 £ ¥ 310 @ala g1 Saa Afeadr & 99
GO 30 Wellad g 3dad &r H & &H g1 G & 9 Tgeliar &
mmwaﬁﬁlFé:WHﬁm@ﬂﬁ%llésWE
¥ ®A Qelld 81 G9 cafed & g f@ellar & dear gad
JIY A § 394 99 50 Wl &




Q. Who has the highest number of toys ?
F
H
E
J
None of these =
— «>
Q. If H has 70 toys than whathe number of toys with F ?
A. 68 e ——
27 76
2 79
@ Either 76 or79
None of these ( )

Q. If the sum oftQys of G and F is 150 the what mignht be the toysof H?
A 361 -_

@, 2 e S°
D. 44 ﬁr C’bj{/z

E. 100 F



E to J have different number of toys. E has more toys than G. H has more toys than |,
“who has more toys than G. F has more toys than E. As many persons have more toys
than G as less than H. G does not have the least number of toys. F has more toys than
H. | has less toys than E. The person who has second lowest number of toys has 50

toys.

e Gy




A to F have different number of boxes. B has more boxes than only C. A
has less box than F, who has less box than E. E does not have the
maximum number of box. The person who has the 39 minimum number
of box has 8 boxes. E has four boxes more than A.

AT F deh TSsd I G&AT IIT-37cl9T &1 B & IF ohdedl C &
3 Bsd 81 A F U F O & Bed §, TGP 99 E T A
f3ed §1 E o g fSeal &1 A&had I&AT gt gl 99 afFad &
g A8 c9dHd &7 H Bsd € 39 99 8 f3sd &1 E &
T AY OR ey 3% §




Q. As many persons has more boxes than D as less than _ ?

A F— —_ —
B. E

“CD
D. A D

E. B C:’7

Q. ILthe difference between the boxes of A and E is 1 less than the boxes of C, then what is the
sum of boxes of Eand C ?
- =

17 2»% (5
717 l

C. 19

D. 21 l%}

E. 20

L’

DD @®



Qto F have different number of boxeg\ B has more boxes than only C)A has less box
than F, who has less box than E. E does not have the maximum number of box. The
person who has the_ 3" minimum number of box has 8 boxes. E has four boxes more

—— N —
than A.

/




A to F are of different height. C is taller than F. Height of E is 255 cm and
is shorter than B. A is shorter than E but taller than F. C’s height is more
than 194 cm but less than 249 cm. D is shorter than A but is not the
shortest. The height of the 3" shortest person is 194 cm.

AT F 3I3T-37e19T 3918 & %I C,FH oIdT gl EHT a5 255 TAT

%ﬁ?B@f@ﬁﬁ%lA,E BICT & olfched F & a1 gl C FT 413
194 @ @ 38+ g oifhad 249@?ﬁﬁwﬁ*lDAﬁa’r€r%
dfhed T Bl 81 gl dR T9H ©ic Iidd I >dais 194



Q. If the sum of height of A and F is 385 cm then what is the possible height of D ?
A. 196cm —

#7193 cm 13 20T 3€5
C. 197 cm A +r= 13

D. 190 cm
E. 195cm D =




_Ato F are of different height. Cis taller than F. Height of E is 255 cm and is shorter than
B. A is shorter than E but taller than F. C’s height is more than 194 cm but less than 249
cm. D is shorter than A but is not the shortest. The height of the 3" shortest person is

194 cm. -
,&7 €/ C B 5D
X
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A to F take different wickets in a match. E take more than D. The one
who take 2" [east number of wickets take 3 wickets. A take more than C,
who take more than E. Number of persons take wickets more than C is
same as number of persons take less than B. C take 3 wickets more than
B. B does not take the least number of wickets. B take less than D.

AY Fded T JAd H T-37019T [dhe ofd &1 E, D ¥ 3T ofdl
| O HIH A [dohe ool aTel <afdd 3 fashe AT 81 A, C &
31 TOhe oIdT &, ST E & 38 ofdr g1 ¢ ¥ 3189« [Oohe oo
aiel Sfaddl &I &A1, B A ddhe ofd dlel cIFdar i
J&IT & AT g1 C, B ¥ 3 ke 3™ odr &1 B a9 &H
fQehe 8T ofaT §1 B, DA & oIdTl ¢




Q. What is the sum of the wickets taken by B, D and E ?

g 20 @ \ g~ 4wy
b C>e>Db
E. 14 Z @ (5) (\\)(33

Q. How man ns take more wickets than E ?
A None -
1
V/Z
D. 3
E. 4

Q. If the sum of wickets taken by A and E is 13 and the sum of wickets taken by E and F is 7 then what is the
difference of the wickets taken by Fand D ? \}

B2 0\’ ﬁjv
- 2 ¢ 2z
: - AD (RA

E. None of these



A to F take different wickets in a match. E take more than D. The one who take 2" |east
number of wickets take 3 wickets. A take more than C, who take more than E. Number
of persons take wickets more than C is same as number of persons take less than B. C

take 3 wickets more than B.ﬂg&s not take the least number of wickets. B take less
than D.

PrC-T>D>B>+
), (3D

e

52
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P to V have different age. Q is older than T but younger than V. U is
younger than Q but older than P. R is older than S but younger than P.
The age of the 3™ oldest person is 59 years, which is 8 years more than

U’s age.

PO VI 3T 3FII-37c19T &1 Q, TH &7 g offched VH BIeT 81 U,
QT DTS AT P ATSTEIR S T 5T & afFeT P O ©YeT T
dEoN g8 g Fled AT 373 59 av §, ST U &I 37 T 8 IV

T8 g




Q. If the difference of age of T and P is 16 and the average age ofalfaand Sis 35 then what may be

the age cifR/? _y3
A. 26 —
5 35 @ fz@”" PA-36n
=42 / o3 C© =<~
@ Either 35 or 42 ~ \
gEither 350r 26 \ C V) R > 'D\q’
51>

If the SLf_m/of age of R and T is 102 and the sum of age of P and U is 97 then what is the
difference of age of Rand P ? D

oz @ D92 10z passTd
: Y ) S\

moOoO W
= O o
w

w
o




P to V have different age. Q is older than T but younger than V. U is younger than Q but
older than P. R is older than S but younger than P. The age of the 37 oldest person is 59
years, which is 8 years mor
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